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26 ABigWheel is modelied as a cicle with centre O and radius 15 metres.
The whee! tums in an anticiockwise directon.
“The lowest point on the whee i ahvays 2 metres above horizontal ground.
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18 The diagram shows a triangular field PR which i used 10 grow organic carrots.
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20 The diagram shows some land in the shape of a quadriateral, ABCD.
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16 /ABC and ACD are triangles.
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The area of ACD is 80.5 cm”

‘Work out the area of ABC.

Give your answer to 3 signiicant figures.
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The area ofthis triangie is 253 cm
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17 Here s a triangle.
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